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PHILOSOPHY — HONOURS
Paper : DSCC-7
(Western Logic - II)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1. Answer any two questions :
(A) Write any five rules of the method of resolution and explain with examples. 5

(B) What do you mean by formal validity of an argument? Write the justifications for the statements
used in the following valid argument : 1+4
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(C) (a) Are the following pair of propositions equivalent? Give reason in support of your answer.

(x) (Mx . Ex) and (x)Mx . Ex
(b) If  Px :x is philosopher
Hx : x is honest
Wx : x is wise
then translate the following symbolisations of propositions into language :
(i) (x) [Px & (Wx. Hx)]
(i) (3x) (Hx . ~ Wx). 2+(112%2)

(D) Write short notes on crucial experiment and ad-hoc hypothesis. 5
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1. Answer any two questions from the following :

(A)  (a) Write with example the difference between full-sweep method and fell-swoop method.

(b) When can the fell-swoop method be applied?

(¢) Determine by fell-swoop method whether the statement (p 5 q) o is implied by (p-~q)
or not. ’
5+2+3

(B)  (a) When does an argument become invalid?

(b) Prove the invalidity of the following arguments by the method of assigning truth-value.

(i) P> (Q.R)
Q>(8.T)
Po>S)oU=V)
P> (Q>~0)
~UD(~-VoT) /. T

(1) (AvB)oC
Co>BvD)

A > (~E >B)
(EoA)>~D/. B

() M o> (NvO)
No>((PvQ
Q>R
~(Rv P
M 1+(3%3)

Il
@]

(C) Discuss the criteria for evaluating scientific explanations. 10
(D)  (a) Find out the probability of any twe of the following :
(i) What is the probability of getting tails every time in three tosses of a coin?

(1) An urn contains four white, six red and ten blue marbles. If three marbles are drawn
at a time from that urn, then what is the probability of their being of the same colour?

(i) In drawing three cards in succession from a standard deck of cards, what is the
probability that all the three cards will be spades?

(b) Differentiate between joint occurrences and alternative occurrences of probability calculus.
(2%3)+4
3. Answer any three questions from the following :

(A)  (a) Analyse the truth-value of the following statements with the help of the method of resolution :

() [P =(Q SR 5 [P 5 Q)5 (P> R)
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(b) Test the validity of the following arguments with the method of resolution :
P/ Qv~Q
(i) A.B
(AvC) oD/ . A.D

) . - i f the
(c) Determine whether the following two statements are equivalent or not with the help o
method of resolution :

Qv R and [(P+Q)v (P+R)] (3+3)+(3+3)+3
(B) (a) Write any two differences between rules of inference and rules of replacement and explain
them with example.
(b) Construct formal proof of validity of the following arguments (any three) :
1) Q>R
~So>(ToU
SvQvT)
~S/ . RvU
(R =]
[Iv(~~K.~~1])
Lo>~K
~(1.))
/. ~Lv~]
(i) (D.E)yo>~F
Fv(G.H)
D=E/..D>G
(iv) If prices fall or wages rise, then both retail sales and advertising activities increase. If

retail sales increase, then jobbers make more money. But the jobbers do not make more
money. So, the prices do not fall. 3+(4x3)

(C) (a) Symbolise the following using individual variables and quantifiers (any two) :

(i) Any tall man is attractive if he is dark and handsome.

(i) Any girl can win if and only if she is lucky.

(ili) No known person will be allowed to enter into the room if he is ill-tempered.

(b) Construct formal proof of validity of the following arguments (any rwo) :

(i) (x) [Hx o (Ex . Dx)]
(3x) (Hx . Sx) / .. (3x) (Ex . Sx)

(i) No player is highly educated; Carol is a highly educated person: so Carol is not a player.

(i) (x) (Lx 2 Jx)
(3x)(Lx . ~Ix)/ .. (x)(Ix 2 Lx)
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(¢) Prove the invalidity of the following arguments by the method assigning truth-values -

(1) Some intellectuals are handsome. All generals are handsome. Therefore. some generals
are intellectuals.

(1) (3x)(Bx . - Cx)
(x)(Dx = - Cx)

S (x)(Dx = Bx). (1727232433}

(D) What is analogical argument? Distinguish between good and bad analogy. Explain with examples
the criteria for the appraisal of analogical argument. 2-3-10

(E) What is an explanation? Write the difference between scientific and unscientific explanation.

3+12

(2643)
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